PW150 %1 / PW150 Series

(FEdmIr4d note) :

I B (ER—X)
i EE T FERE(EE—XR)
FE i s fistt Fluid volume for _
) Outlet Consumption for cycle
Code No. Ratio cycle
Pressure(Ph*) (L/cycle)
(L/cycle)

PW150002T 2:1 1Pd+Ps 17.58
PW150003T 31 2Pd+Ps 9.88
PW150004T 4:1 3Pd+Ps 6.32
PW150005T 5:1 4Pd+Ps 4.38
PW150008T 8:1 7Pd+Ps 2.79 (3.529xPd+3.645)/1.033

PW150009 9:1 8Pd+Ps 2.20

PW150014 14:1 13Pd+Ps 141
PW150015T 15:1 14Pd+Ps 1.56

PW150025 25:1 24Pd+Ps 0.74

* PH= Outlet Pressure / ** PD= Driven Pressure / #** PS = Supply Pressure / Pressure Ratio=PH/PD / signal

pressure> Pd pressure

Bt ¢ BeEBRENEE(PD) = 6 kglem2, #ER4HER(PS) = 6 kglem2 EE i FIl T 55748 PH i

iy K TERENER(PDVLRE—JHRER & o FTiSEIHYEUE AZAE P k.

Note :If Driven Pressure (PD) is 6 kg/cm2, Supply Pressure (PS) is 6 kg/cm2 pressure,

the T Per minute PH of output jand T Driven pressure consumption by cycle jthe resulting

values in the form described.

RG] SR e BRI RS By PW150002T,7E PD=6 kg/cm2 H PS=6 kg/cm2 [13E& 715, Hi|
TEpoy$E PH R & 5 PS5 2 ST EEUE K758 I/min; 5551 T EES)ER(PD) R —JRERE o A

et EEIE Ky 24.03L

For example: When High Pressure Gas Booster specifications for PW150002T, in the PD

is 6 kg/cm2 and PS is 6 kg/cm2 pressure, the T Per minute PH of output ; of calculated

values are: 758 I/min; Additionally T Driven pressure consumption by cycle ; of calculated

values to 24.03L.

SN R~ Dimensional Features(Bfiz:mm)
PW150002/PW150002T/PW150003T/PW150004/PW150004T (& Eh#LEh)



—[PH] port [PS] port—

PT-3/8" PT-3/8"
—
e ‘ ”
e e
- / & / // [PD] port
D 0 PT. 38"
(( =1
! T 0170
— : 85
—4-M10x1.5P
= = (@A) J g O | |
e ©
e | 1
2 / / /| |8 g 1o
@/ e/ 10/ ©
g — == He e
[ [ @@
18.5 455 8.5 L 4-M10x1.5P
492 (BEFL)

150005T/PW150008T/PW150009/PW150014/PW150015T/PW150025 Z%1|(SRETFLEE))

[PH] port [PS] port
PT-3/8" PT-3/8"
- 1. ——
[ 1 1
| 3 : ;
13 I )
™ L]
IRy I - "
/ / /
" u 4 [PD] po.r.t—
(( — ({ PT-3/8
I I T 176
— — — — 170
85
B O

4-M10x1.5P
5 (L)

N
Y
110
S
o
&
 S—

110
214

110

i WO

@ O |
\

N~

7 ©
30
©
©

N
| ’
15.5 447 15.5 L
4-M10x1.5P
478 ([ EfL)

PW150002E/PW150002TE/PW150003TE/PW150004E/PW150004 TE (EBHLIEEE))


http://www.deter.com.tw/picture/zh/product/100128_PW150_1.jpg
http://www.deter.com.tw/picture/zh/product/100128_PW150_2.jpg

[PS] port

[PH] port
PT- 3/8" PT-3/8"
— o v
N ]
hj
o ooy
- 3/ .
(@) - 193 | -
L o170 | -
= | = s
4-M_110x1.5P I ! =
|‘ ' d' (I815&41) } 0 ©) |
e - o, e @%
©
2 g ® 8 i
Lo o1 ] @
| | 41© ®
L B 1 ©Xo)
18, 455 185 4-M10x1.5P
492 _ (15 1L)

PW150005TE/PW150008TE/PW150009E/PW150014E/PW150015TE/PW150025E (B RERRRE

)
[PH] port [PS] port
PT-3/8" PT- 3/8"
_|F PR A
0 ”
. .| S )
(@) (PD] port
PT-3/8"
- B 193 |
I L 170 o
4-M10x1.5P ) ]
o @) o = v
- h 010 M,
‘- ~ R
T, . Jooje . e
©
3 o) ® g 3¢ ®© p
' o of ! ! 9
g |© ©
1 1 S J
155 _ _ 447 __ 155 ot 5
@A)

i

478

!



http://www.deter.com.tw/picture/zh/product/1114PW150002E_b.jpg
http://www.deter.com.tw/picture/zh/product/1114PW150008E_b.jpg

